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#include<stdio. h>

#include<stdlib.h>

#include<math.h>

/I RX AR ENRT &K

#define MAXREPT 10000

/7 X F W &

#define epsilon 6.00000001

//Newton %% KR

int NEWTON(double (*f)(double),double (*g)(double),double x,int flag){
double x0=x,x1,alpha;
int k,n;
/* ERREFARBEELRSED, TSR A 0 wERL, WM A 3,
TSR A EAR 3 WIEL, WEHA 2%/
if(flag<=1){

alpha=0;
n=3;
}
else if(flag==2){
n=2;
alpha=-sqrt(3);
}
else{
n=2;
alpha=sqrt(3);
}
for(k=1;k<=MAXREPT; k++){

x1=g(x0);
//% & — 5 Bk s I E 1
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printf("|e(%d)|/|e(%d) | %d=%.15E\n",\
k,k-1,n,fabs(x1-alpha)/pow(fabs(x0-alpha),n));
if(fabs(x1-x@)<epsilon){

printf(" #E =%.11f, ® =%.15E, ¥#=RFH =%d\n\n",x,x1,k);

return 0;
}
X0=x1;
¥
printf(" &£%.11f W& f(x) THR\n",x);
return 1;
}
/)R KR

int XJ(double (*f)(double),double X1,double X2,int flag){

double f1,f2,x1=X1,x2=X2,x,alpha,n;
f1=Ff(x1);

int k;

// 7 1E TR B AR AR RS
if(flag<=1){

alpha=0;
n=2;
}
else{
alpha=sqrt(3);
n=(1+sqrt(5))/2;
}

printf("|e(%d)|/|e(%d)|*%.31f=%.15E\n",\
1,0,n,fabs(x2-alpha)/pow(fabs(x1-alpha),n));
for (k=2 ;k<=MAXREPT ; k++){
f2=F(x2);
x=x2-f2*(x2-x1)/(f2-f1);
// % — B RS e L
printf("|e(%d)|/|e(%d)|"%.31f=%.15E\n",\
k,k-1,n,fabs(x-alpha)/pow(fabs(x2-alpha),n));
if(fabs(x-x2)<epsilon || fabs( f(x) )<epsilon ){

printf(" AE x1=%.11F,x2=%.11f, A& =%.15E, #RKHK =%d\n\n",\

X1,X2,x,k);

return 0;
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J/AT—RERELEHE
f1=F2;
X1=x2;
X2=X;
}
printf(" ZEMIHEE x1=%.11f,x2=%.11f [t#T f(x) THK\n",X1,X2);
return 1;
}
//EE f(x) BIE
double f(double x){
return (x*x*x/3-x);
}
//EEL g(x)=x-f(x)/f"(x) W&
double g(double x){
return (x-(x*x*x/3-x)/(x*x-1));
}
int main(void){
//Newton %R EAEEEFEHEE
double x0[4]={0.1,0.2,0.9,9.0};
// R B e
double (*F)(double);
double (*G)(double);
F=F;
G=g;
int i;
//a A Newton #:RiESEFE
printf("Newton #% M iE\n\n");
for(i=0;i<4;i++){
printf(" #%d %4:\n",i+1);
NEWTON(F,G,x0[i],1);
¥
SRR EE TR ERAE
double X[4][2]={{-0.1,0.1},{-0.2,0.2},{-2.0,0.9},{0.9,9.0}};
/77 A R R R 4
printf(" Z&ZE\n\n");
for(i=0;i<4;i++){
printf(" #%d %4:\n",i+1);
XI(F,X[i][@],X[1][1],1);
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}

[/ EERF
system("pause");
return 0;
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